



## Proof of the great orthogonality theorem

- Prove that all representations can be unitary matrices
- Prove Schur's lemma part 1 – any matrix which commutes with all matrices of an irreducible representation must be a constant matrix
- Prove Schur's lemma part 2
- Put all parts together

1/23/2017

PHY 745 Spring 2017 – Lecture 5

4

---

---

---

---

---

---

---

---

## Proof of the great orthogonality theorem

- Prove that all representations can be unitary matrices
- Prove Schur's lemma part 1 – any matrix which commutes with all matrices of an irreducible representation must be a constant matrix
- Prove Schur's lemma part 2
- Put all parts together

$$\sum_R \left( \Gamma^i(R)_{\mu\nu} \right)^* \Gamma^j(R)_{\alpha\beta} = \frac{h}{l_i} \delta_{ij} \delta_{\mu\alpha} \delta_{\nu\beta}$$

1/23/2017

PHY 745 Spring 2017 – Lecture 5

5

---

---

---

---

---

---

---

---

Construct a  $\ell_2 \times \ell_1$  matrix

$$M \equiv \sum_R \Gamma^2(R) X \Gamma^1(R^{-1})$$

Note that:  $\Gamma^2(S)M = M\Gamma^1(S)$  where  $S$  is a member of the groupFor  $\ell_2 \neq \ell_1$  Schur's lemma shows that  $M = 0$ For  $X = 0$  except  $X_{\mu\nu} = 1$ :

$$\begin{aligned} \left( \sum_R \Gamma^2(R) X \Gamma^1(R^{-1}) \right)_{\alpha\beta} &= \sum_R \left( \Gamma^2(R) \right)_{\alpha\mu} \left( \Gamma^1(R^{-1}) \right)_{\nu\beta} \\ &= \sum_R \left( \Gamma^2(R) \right)_{\alpha\mu} \left( \Gamma^1(R) \right)_{\beta\nu}^* = 0 \end{aligned}$$

1/23/2017

PHY 745 Spring 2017 – Lecture 5

6

---

---

---

---

---

---

---

---

Construct a  $\ell_2 \times \ell_1$  matrix

$$M \equiv \sum_R \Gamma^2(R) X \Gamma^1(R^{-1})$$

Note that:  $\Gamma^2(S)M = M\Gamma^1(S)$  where  $S$  is a member of the group  
 For  $2=1$ , Schur's lemma shows that  $M = sI$   $I \equiv (\ell_1 \times \ell_1)$  identity

$$\left( \sum_R \Gamma^1(R) X \Gamma^1(R^{-1}) \right)_{\alpha\beta} = s \delta_{\alpha\beta}$$

For  $X=0$  except for  $X_{\mu\nu}=1$ :  $\sum_R \Gamma^1_{\alpha\mu}(R) \Gamma^1_{\nu\beta}(R^{-1}) = s_{\mu\nu} \delta_{\alpha\beta}$

Here  $s_{\mu\nu}$  denotes the scalar constant for the particular choice of  $X$ .

Consider  $\alpha = \beta$  and sum over all  $\alpha$ :

$$\sum_{R\alpha} \Gamma^1_{\alpha\mu}(R) \Gamma^1_{\nu\alpha}(R^{-1}) = \sum_{R\alpha} \Gamma^1_{\nu\alpha}(R^{-1}) \Gamma^1_{\alpha\mu}(R) = \sum_R \Gamma^1_{\nu\mu}(R^{-1}R) = h \Gamma^1_{\nu\mu}(E)$$

$$\Rightarrow \sum_{R\alpha} \Gamma^1_{\alpha\mu}(R) \Gamma^1_{\nu\alpha}(R^{-1}) = h \delta_{\mu\nu} = s_{\mu\nu} \sum_{\alpha} \delta_{\alpha\alpha} \Rightarrow s_{\mu\nu} \ell_1$$

1/23/2017 PHY 745 Spring 2017 - Lecture 5 7

---

---

---

---

---

---

---

---

---

---

Proof continued:

$$\sum_R \Gamma^1_{\alpha\mu}(R) \Gamma^1_{\nu\beta}(R^{-1}) = s_{\mu\nu} \delta_{\alpha\beta}$$

$$h \delta_{\mu\nu} = s_{\mu\nu} \ell_1 \Rightarrow s_{\mu\nu} = \frac{h}{\ell_1} \delta_{\mu\nu}$$

$$\sum_R \Gamma^1_{\alpha\mu}(R) \Gamma^1_{\nu\beta}(R^{-1}) = \sum_R \Gamma^1_{\alpha\mu}(R) (\Gamma^1(R))_{\beta\nu}^* = \frac{h}{\ell_1} \delta_{\mu\nu} \delta_{\alpha\beta}$$

$$\sum_R (\Gamma^i(R)_{\mu\nu})^* \Gamma^j(R)_{\alpha\beta} = \frac{h}{l_i} \delta_{ij} \delta_{\mu\alpha} \delta_{\nu\beta}$$

1/23/2017 PHY 745 Spring 2017 - Lecture 5 8

---

---

---

---

---

---

---

---

---

---


$$\sum_R (\Gamma^i(R)_{\mu\nu})^* \Gamma^j(R)_{\alpha\beta} = \frac{h}{l_i} \delta_{ij} \delta_{\mu\alpha} \delta_{\nu\beta}$$

Geometric interpretation:  
 $h$  dimensional vector space should be spanned by representations  $\Gamma^i(R)_{\alpha\beta}$  each of which consists of  $l_i^2$  components.

$$\Rightarrow \sum_i l_i^2 = h$$

For  $P(3)$ :  $1+1+2^2 = 6$   
 For  $P(4)$ :  $1+1+2^2 + 3^2 + 3^2 = 24$

1/23/2017 PHY 745 Spring 2017 - Lecture 5 9

---

---

---

---

---

---

---

---

---

---



Character table for  $P(3)$ :

$$\Gamma^1(A) = \Gamma^1(B) = \Gamma^1(C) = \Gamma^1(D) = \Gamma^1(E) = \Gamma^1(F) = 1$$

$$\Gamma^2(A) = \Gamma^2(B) = \Gamma^2(C) = -1 \quad \Gamma^2(E) = \Gamma^2(D) = \Gamma^2(F) = 1$$

$$\Gamma^3(E) = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \quad \Gamma^3(A) = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} \quad \Gamma^3(B) = \begin{pmatrix} -\frac{1}{2} & \frac{\sqrt{3}}{2} \\ \frac{\sqrt{3}}{2} & \frac{1}{2} \end{pmatrix}$$

$$\Gamma^3(C) = \begin{pmatrix} -\frac{1}{2} & -\frac{\sqrt{3}}{2} \\ \frac{\sqrt{3}}{2} & \frac{1}{2} \end{pmatrix} \quad \Gamma^3(D) = \begin{pmatrix} -\frac{1}{2} & \frac{\sqrt{3}}{2} \\ -\frac{\sqrt{3}}{2} & -\frac{1}{2} \end{pmatrix} \quad \Gamma^3(F) = \begin{pmatrix} -\frac{1}{2} & -\frac{\sqrt{3}}{2} \\ \frac{\sqrt{3}}{2} & -\frac{1}{2} \end{pmatrix}$$

Classes:  $\mathbf{e}_1 = E$      $\mathbf{e}_2 = A, B, C$      $\mathbf{e}_3 = D, F$

	$e_1$	$3e_2$	$2e_3$
$\chi^1$	1	1	1
$\chi^2$	1	-1	1
$\chi^3$	2	0	-1

1/23/2017

PHY 745 Spring 2017 – Lecture 5

13

---

---

---

---

---

---

---

---

---

---

---

---

Check orthogonality:

$$\sum_{\mathbf{e}} N_{\mathbf{e}} (\chi^i(\mathbf{e}))^* \chi^j(\mathbf{e}) = h \delta_{ij}$$

	$e_1$	$3e_2$	$2e_3$
$\chi^1$	1	1	1
$\chi^2$	1	-1	1
$\chi^3$	2	0	-1

$$\sum_{\mathbf{e}} N_{\mathbf{e}} (\chi^3(\mathbf{e}))^* \chi^2(\mathbf{e}) = 1 \cdot 2 \cdot 1 + 3 \cdot 0 \cdot (-1) + 2 \cdot (-1) \cdot 1 = 0$$

$$\sum_{\mathbf{e}} N_{\mathbf{e}} (\chi^3(\mathbf{e}))^* \chi^3(\mathbf{e}) = 1 \cdot 2 \cdot 2 + 3 \cdot 0 \cdot 0 + 2 \cdot (-1) \cdot (-1) = 6$$

1/23/2017

PHY 745 Spring 2017 – Lecture 5

14

---

---

---

---

---

---

---

---

---

---

---

---

Some further conclusions:

$$\sum_{\mathbf{e}} N_{\mathbf{e}} (\chi^i(\mathbf{e}))^* \chi^j(\mathbf{e}) = h \delta_{ij}$$

The characters  $\chi^i$  behave as a vector space with the dimension equal to the number of classes.

→ The number of characters = the number of classes

Second character identity:

$$\sum_i (\chi^i(\mathbf{e}_k))^* \chi^i(\mathbf{e}_l) = \frac{h}{N_{\mathbf{e}_k}} \delta_{kl}$$

1/23/2017

PHY 745 Spring 2017 – Lecture 5

15

---

---

---

---

---

---

---

---

---

---

---

---

